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Note — Attempt Five questions in all. Question No. 1 is

compulsory. All questiuns; carry equal marks.
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1. | Explain with suitable example :
(a) Permanent Working Capital
b) | Cash Budget
() Just in Time Method of InVentory Management
(d) Management by Objective.
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What do you mean by Marketing ? Distinguish between

Marketing and Sales.
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What are the constituents of Business Environment ?

Examine the role of Business Environment in the growth

of an economy.
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Discuss the rights of Proposal and acceptor as per

Indian Contract Act, 1872.

What is a Valid Offer under Indian Contract

Act, 1872.
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.Compare the Great Man Theory and Trait Theory of

Leadership.
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What are the main constituents of economic policy ?
Examine the role of recent economic policies on
the development of Indian economy in 21st

Century.
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What is an Offer document ? What are the

components of offer document ? On what ground offer

document is differentiated from prospectus.
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8. Evaluate the role of SEBI (Securities and Exchange

Board of India) in promoting and safeguarding

the investors interest. How does the control

mechanism of SEBI affects the working of Stock
Exchanges .?
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